THIXTEFE12AERSD REKR

RE BEEFBEEHRRACHREHE

B & % % & B H BERE
FRAHZ fREHMmMEKXEZEE 0157 =
IRAE (%) fAE M XZE 0157 b= 1%
KT DY fREHMmMEXREZEE 0157 =
WEIOv L&T—HY frEHMmEXRBE 0157 = %
FIAIZeL fREHMmMEXEBE 0157 = %
V—R(IMNR) I RZ— fAE M XBE 0157 b= %
ALoPPa—x frE M KBE 0157 = %
AEHLC(HE-I1L) REHMEXRBEE 0157 bz %
NAYUBYDHA REHmMEXREE 0157 =
#HEDY EHMmEXRBE 0157 b= %
9V)— L (HEYTE) REHmMEXZEE 0157 =
INEDEA fAE Mt XBE 0157 =
Azl fREHmMEXZEE 0157 b= 1%
CAITH< (R frEHMmEXRBE 0157 b= %
=ZAYICAIZRL fREHMmMEXEBE 0157 = %
BAE frEHMmEXEBE 0157 b= %
BHH&E (5) fREHmMEKREE 0157 = 1
ATAVIF—R fREHMmEXRBE 0157 p= %
Y—R(DFAR1K) frE M KIBE 0157 = %
YIh—H1> (8g) fAEHMmERBE 0157 = %
FaaL—ko)—L frE M KIZE 0157 = %
DEZAIZRL(AYL) EHMmEXBE 0157 = %




THIXTEFE12AERSD REKR

BE EAEFBAERRTHREHE
B & % % & B H BERE
FAYTRE—F fREHmMEXZEE 0157 = 1
EAITHF—X (HY) fAE I XZE 0157 b= %
ATFLGER) fREHMmMEXREZEE 0157 =
RLYZAIZwL frEHMmERBE 0157 = %
DYDHEA fREHmMEXEE 0157 =
NE—(H1E) BREHMERBE 0157 bz %
EYV—X frE M RBE 0157 = %
FEX EHMmEXRBE 0157 b= %
SYMFHDH) fREHmMEXEE 0157 =
SYNF(DY-2) fAE I XZE 0157 = 1%
SUDMTF (BEZF) fREHMEKXEE 0157 = 1
SYMITF (FYABE) fmE Mt XZE 0157 b= 1%
MERF—X EHMmMEXEBE 0157 = %
BX EHMmEXREBE 0157 b= %
EHE fREHmMEXREZEE 0157 =
2AF—XEARLYI VT fREHMmERBE 0157 f= %
TYYRD N L frE M KBE 0157 = %
—AAXX EHMmEXRBE 0157 = %
A=y fREHMmMERZE 0157 = 1
BMFEIXT frEHMmERBE 0157 f= %
HH<h fREHmMEKRZEE 0157 b= 1%
I—J I3 T7a7) fEHMmEXRBE 0157 b= %




THIXTEFE12AERSD REKR

BE EAEFBAERRTHREHE
B & % % & E H BmE KR
I—7 L GRER) frE M KBE 0157 = %
BEIL—YE)— (T L—7) frEHMmERBE 0157 = %
AEIIL—YE)—(hAED) frE M KBE 0157 = %
AEIL—YE)—(FF) frEHMmEXBE 0157 f= %
ABIIL—yE)—(YAD) REHmMEKREE 0157 = %
MREBIT(RD) frEHMmEXRBE 0157 f= %
AEEBT (D) BESGT fREHMEXEZEE 0157 = 1
ARHAHZN BEHMERBEE 0157 (=3
AEVNVDLAYATFL20g REHmMEXEE 0157 (EN
MEIAT—(HoUE) fmE Rt XIZE 0157 =
AEIAFT—(HYR) fREHmMEXZEE 0157 = 1
AESTHIT (vk) BEHMEXRBEE 0157 (=3
MEIEA g M KIZE 0157 = %
Pl i 0 BEHMERBEE 0157 fz %
AEAVHETF frE M KZE 0157 = %
BENELREIL fREHMmEXRBE 0157 = %
MRBERTIA fREHMmMEXBE 0157 = %
AENMMDDSIEGIT BREHMEXRBEE 0157 bz %
AEFI—Y BEHMEXRBEE 0157 Bz %
ARBA (R F5ghvh) BEHMERBEE 0157 bz %
MEBAE(BRF8gHvh) fREHmMEKREE 0157 = %
ARBRA(BAAHE15ghvh) REHMmEXRBE 0157 b= %




THIXTEFE12AERSD REKR

BE EAEFBAERRTHREHE
B & 4% % & E H BmE KR
MEBAE(BRFbE8ghvh) fREHmMEXEE 0157 =
ARBA (RELSghvh) BREHMERBEE 0157 bz %
MEBRE(RGELLE5gHVM) fREHmMEXZEE 0157 = 1
AEAOYT GRTH) frEHMmEXREBE 0157 = %
AR (HiR) fREHMmMEKXEZEE 0157 =
mEEE (HIR-AY) fAE Mt XBE 0157 b= 1%
MREEND frE M KBE 0157 = %
ARSIE (HIE-AY) BEHMERBEE 0157 fz %
ARSI (AT fREHMmMEXRBZEE 0157 b= %
AESIER) BEHMERBEE 0157 fz %
AESE ) fREHMmMEXRBZEE 0157 =
mEShL (HiE) fAE Mt XBE 0157 b= 1%
MRSAE (HR-FZ)A30g fREHmMEXZEE 0157 b= 1%
mAELLeD EHMmEXREBE 0157 b= %
MR 1—<A g MM KZE 0157 = %
BEBREELBVAITAEEIL fAE M XBE 0157 b= %
MEBERTYE— fREHMmMEXREE 0157 b= 1%
MEVT—NAZ=FY fAE M XBE 0157 = 1%
MBERBESL fREHmMEXZEE 0157 =
BRI-FETOE fAEHMmERBE 0157 = %
mEEF fREHMmMEKRBZEE 0157 =
BRFXUF TV frE Mt RBE 0157 b= %




THIXTEFE12AERSD REKR

BRE BEEHBHEASHRIETRERE
B B A B & EH BE#®E
BEFXUNN=Y fREHmMEXZEE 0157 = 1
BRFEXUR—IL frE Mt RIBE 0157 f= %
ARFEUR—IL(LINA—AY) frE M KIBE 0157 k= %
MR E fAE Mt XBE 0157 b= %
AELBYHALH fRE M XBE 0157 =
MREG EHMmEXRBE 0157 =
MERE(K) fREHMEXEBE 0157 = %
MAEEILAILECL fmE M XZE 0157 =
REBISIZIT frE M XBE 0157 = %
MREERYLTF fAE M XZE 0157 b= 1%
mREE fREHMEXERE 0157 = %
ARBEAE (1) 3mm3x3 frE Mt REEE 0157 b= %
AEBFRA (0—R)3mm3x3 frE M KBE 0157 = %
mEBEREBE fAE M XBE 0157 =
ARBERLY (M) fREHMmMEXREZEE 0157 =
ARBERALL (R fAE Mt XBE 0157 =
REITUVTIVE(ETEL) frE M KBE 0157 = %
AEAR—IY (hyk) fAEHmERBE 0157 =
AEIFIES fREHmMEKRZEE 0157 = 1
AERILRINL (BVb) frEHMmEXRBE 0157 =
MRIZ A F— fREHMEXEBE 0157 = 1
BRIV FHY50g frE Mt RBE 0157 p= %




THIXTEFE12AERSD REKR

RE BEEFBEEHRRACHREHE

B & 4% ® & IE H rE KR

ARUERE frEtmEXEBE 0157 b= %




